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AGA KHAN UNIVERSITY EXAMINATION BOARD
SECONDARY SCHOOL CERTIFICATE
CLASS IX
ANNUAL EXAMINATIONS 2022
Computer Science
Total Time: 1 hour 40 minutes
Total Marks: 50 (40-Theory & 10-Alternate to Prac@

INSTRUCTIONS \

1. Read each question carefully. (8,\' QQ

2. Answer the questions on the separate%wer sheet provide bo NOT write your answers on the
question paper.

3. There are 100 answer num th*a\ns@ sheet. %&nswer numbers 1 to 50 only.
4. Question Distributio@&

Theory ‘/Alternate to Practical (ATP)
40 MCQs ()4, 10 MCQs

5. In each (@ n, there are four ces A B, C, D. Choose ONE. On the answer grid, black
out th for your choice ncil as shown below.

Correct Way Incorrect Ways Candidate’s Signature

HOJO] IORXOIOGIO,
2®EOO
s @OE®O
t®EOO

6. If you want to change your answer, ERASE the first answer completely with a rubber, before
blacking out a new circle.

7. DO NOT write anything in the answer grid. The computer only records what is in the circles.

8. The marks obtained on the 40 MCQs will be equated to the total marks of 65 for the theory
examination results.

9. You may use a simple calculator if you wish.
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THEORY (Questions 1-40)

1. A software that loads programs into the memory and then executes them is called

A device driver.

B. utility software.
C. flight simulator.
D. operating system.

N

2. An example of application software is )
v
A device driver. (19

B. utility software.

C. flight simulator. \%
D. operating system.
o2

3. In contrast to serial ports, parallel ports transmit
N 4
0

A. data at low speed.

B. single stream of data at a time.

C. multiple streams of data at a tim (b' . Q

D. data between processor and me@y 0\
4. Which of the following statement is FALSE about the hard disk drive?

A A\ >

A.  ltisasecondary @évice.s\ @

B. It uses optical store data. \/

C. It is a non-volatil&Storage device.

D. It uses ra@m access method to a the data.

e
5. Which of the following statements is FALSE about the cache memory levels?
| 2 cache memory | \tgon the motherboard.
{ 'EE el 1 cache memorwis Iocated on the MICroprocessor.
v evel 3 cache me slower than level 1 cache memory.
Level 3 cache is smaller in storage capacity than other two levels.
m
6. Which of the following statements is FALSE about ROM?
&/

A It is a noM-volatile memory.

B. It allows to perform read operation.

C. It stores the program to start-up a computer.

D. It allows to perform write operation several times.
7. The TWO most common output devices in an ATM machine are

printer and keypad.
printer and speaker.
keypad and speaker.
monitor and scanner.

COow>
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10.

11.

12.

13.

Uom;g>

A CPU contains all of the following components EXCEPT

A. registers.

B. input unit.

C. control unit.

D. arithmetic logic unit.

A device is used to check whether meat is cooked from inside or not. The MOST appropriate
sensor used in this device could be a

A. gas sensor. (1(/1/

B. pressure sensor.
C. moisture sensor.
D. temperature sensor. (l/

q

Some devices are essential to perform specific tasks on a computer.

Two essential devices to make a video call are

o N ~
A. webcam and printer.
B. monitor and scanner. \, Q
C. headphone and scanner. (b' . Q
D.  webcam and headphones.Q 0\
e

Sara has distributed brochures of her home-based business.

Three of the essential devices that should be used in developing softcopy and obtaining
hardcopy of these brochures are
A4

mquse, keyboard and printe%’
XQ speaker and monitor
%m monitor and
(\Qﬂnter keyboard an @mones

device which is used to capture the product information is

monitor. Q

light p
bar ader
& c ink character reader.

The CORRECT pair of a device and its characteristic is

oW

Device Characteristic
A | Digital Camera Adjusting Resolution
B | Joystick Pointing Device in Laptop
¢ | Barcode Reader Checking Originality of
Cheques
Magnetic Ink Character Capturing Product
D .
Reader Information

PLEASE TURN OVER THE PAGE
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17.

18.

19.

15.

16.
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A signal that causes data transfer from main memory to a CPU register is sent from

A. input unit.

B. output unit.

C. control unit.

D. arithmetic logic unit.

Fatima has a handwritten document. She wants to convert the document into editable form in
the computer system.

An input device that she should use for this purpose is a/ an

A. barcode reader. (19 V

B. optical mark reader.
C. magnetic ink character reader.

D.  optical character reader. 6 \*
~N\

A system needs to automatically unlock the main door in a house during the day and lock it at
night. The MOST suitable sensor to be used in this system is

A. light sensor. (5‘\'\ QQ

B. pressure sensor

C. moisture sensor. . Q N
D. temperature sensor. {Q Q
f\\ <

Which of the following statements is TRUE about star fopology?

v 2N @v
A Detection of fa@i.ﬁicult \/
B. Easiest network ®&g0logy to set up
C. Lowest cost topology to impleme%g to short cable length
D. Failure%ae computer does not steg’the functioning of the entire network
« A
Which of the following is FALSE about peer-to-peer networks?

\ 4
%wdes centrallsedﬁcu ity.

v can be expande&@{ thousands of computers.
C. It is generally u r long distance communication.
D. These netwo considered as wide area networks.

e
A type of communication technology that provides the LOWEST internet connection speed is

a/ an

dial-up line.

digital subscriber line.

code division multiple access.
integrated services digital network.

COow>
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20.

21.

22.

23.

24,

Consider the given image.

The type of topology shown in this image is (1>)

A. bus.
B. stuasr. 06 @
C. ing.
b mesh . O
\ A

In contrast to bus topology, the mesh tbjoology
(N \\ o
A. s difficult to implement. 9 *

B. provides ease in addifyg new computers. Q\

C. uses less cable to ¢ com &s togeth&s

D. halts the entire kif any e co stops working.
Qe o

A topology which is MOST expensive among other topologies is

A. bus. %’
B. stan
C. r ?\

D.(\Q;esh. {\%

In contrast to star topology, the ring topology
N\

\ -
; A. makes %ﬁto detect faults.
1gas

B require cables for its implementation.

C. ma% y to connect new devices to the network.

D. )ﬁ/ that failure of one computer does not stop the functioning of the entire
network.

The purpose of using terminators in the bus topology is to

increase the data rate of the medium.

stop signals reaching to unauthorised users.

stop signals from bouncing back to the medium.
decrease the chances of signals from getting corrupt.

COw>

PLEASE TURN OVER THE PAGE
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A type of network that has the LOWEST data rate when data is transmitted on longer
distances is

A LAN.
B. MAN.
C. PAN.
D. WAN.

The two types of networks in which the transmission medium is owned by the user are

. PAN Q/Q/

Il. WAN

. LAN q/Q

V. MAN

A land Il
B. | Zﬂd V. 06 CS’\
C. Il and IV. 0

D. Il and I11.
In contrast to client-server network, a peer-to-peer network
| 4

l. focuses on sharing the infogmaﬂ@ N
. uses centralised server to stgwg data

II. is less stable if number o puterse &ases

IV. allows each node to re andgép for th(éwices

A landll. Qj"

B.  landlll. v/
C. Iland I (e,

D. 11 and AL

. A
A type of communication via telephone network that gives a speed of around 256 Kbps is a/ an

N . \\ -
A { &a -up line.
B?*digital subscriber?ﬁQ\
C. code division mq?) access.
D. mtegrated se digital network.
Two of the tags that are related to tables in HTML are

<tr></tr> and <th></th>
<br></br> and <dt></dt>
<tr></tr> and <br></br>
<th></th> and <dt></dt>

COow>
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30.  The attribute that specifies the path to an image in a web page is

A. img
B. src
C. alt
D. tr

31.  Animage with the following specifications is to be inserted in a web page.

The name of the image is flower.jpg

The alternative text for image is "Flower Picture"

The width and height of the image are to be 100 pixe (1/

A solid black border having thickness of 3 pixels ?.1/ S the picture
age’is

The HTML code to insert these specifications in a Web p

A <img src="flower" alt="Flower Picture" @l@ 100" helght—"éQQb

style="border:3px solid black">
<alt="Flower Picture" img src= "roweN-p’g" width="100"

height="100" style="border:3px soN black™>
c <img src="flower.jpg" alt= "F Picture” Wldth—"@
height="100" style="bord olid black™>

D | <Style="border: 3px slid Black™ img src="flow " alt="Flower
Picture"” width="100" ght—"l ">

&

N\ =N\

32.  Consider the given image of a web page showmg a sentence. The font style of sentence is
Courier New.

3

& Sample Code html * +

c 0 (6 LPe D @

This is Important paragraph.

The HTML code to show this sentence is

A |<P This is <b><I>Important</I></b> paragraph</p>
style="font-family:'Courier New' ">

g | <P style="font-family:'Courier New' ">This is
<b><I>Important</I></b> paragraph.</p>

C <p style="font-family:'Courier New' ">This is
<b><I>Important<\b><\I> paragraph.<\p>

D <p style:"font-family="Courier New' ">This is
<b><I>Important</I></b> paragraph.</p>

PLEASE TURN OVER THE PAGE
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Given is the image of a webpage showing a sentence.

@ Sample Codehtml X +

cC 06 L ® @

I Love Pakistan.

The HTML code for displaying the sentence is

A | I<p><p><p>Love<p><p><p>Pakistan. (\6

B | I<br><br><br>Love<br><br><br>Pakistan 0\ C?
C | I1&href;&href;&href;Love&href; &href; &%@f Pakistan.

D | 1&nbsp;&nbsp;&nbsp; Love&nbsp ;&nbsp; Paklstan{\\q

Which of the following statements is FALSE about HTML?

A. It is a markup language. § O« S
B. It is used for creatln re

C. Its code is usual |n note

D. It does not nee

piler for executlo?\/

Web crawler and database are two basic components of a

A. web se \ o

B. weh,bhWser. %
C. @Q engine. Q
D. orm resource Iocaq.

™ W\

Which of the following HTML tags does not need a closing tag?

37.

~
A. <title>

B. <head>

C. <br>

D. <p>

An image can be set as background of a web page by using the

COow>

background attribute in the body tag.
body attribute in the background tag.
href attribute in the background tag.
body attribute in the href tag.
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How are you?

38.  The types of tags that are essential to create a definition list are
A. 2
B. 3
C. 4
D. 5
39.  Consider the given text.

The HTML code to show this text in white color over the magenta background is
| 4

<style:"background-color magenta;">

<p style:"color white">How are you?</p>

<stylex @&ground color<ma - i
Q coIor<wh|te>"e you?</p>

A

B

<style="background color=magenta;">

<p style="color=white">How are you?$

N} N/
(b' <sty|e:"back.gro@o or:magenta;">

<p style=" white">How are you?</p>
K¢

D

X
The bold code line in the given HTML code is INCORRECT.

~AY

N/

C
« U
40.
h V4
<html>
<body sty =""background-color:
<h1> &a heading</h1>
<p>¢ IS a paragraph. @
y>
L ¥hml> m\

rly Wood;"'/body>

g

The CORRECT code I|ne to show Burly Wood color in the background of a web page is

20®;yle="background-co|or:BurIyWood;">

<thjy style="background-color=Burly Wood;">

<body style="background-color<BurlyWood;>">

o0 |m|>

<body style="background-color=BurlyWood;"/body>

PLEASE TURN OVER THE PAGE
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ALTERNATE TO PRACTICAL (ATP: Questions 41-50)

41.

42.

43.

Which of the following are used as a hyperlink to link a web page to another web page or
another section of the same page when user clicks on it?

A. Text and Video

B. Text and Image

C. Video and Document

D. Image and Document (1/
N

Which of the following HTML codes should be used to display white text on a background
having black color?

<body bgcolor=black text=white> *

A
B | <body bgcolor=black fgcolor=white> .4\’\6 @\
C | <body backgroundcolor=black text:wh1t£3> 0
D | <body bgcolor=black foregroundcothtv q
(025

Consider the given incomplete code. This code is supposed to right align the heading of a
table.

I | \/
PN ©

Which of the following HTML statement lines should go in the empty box to complete the
code?

_ \\ -
A, { § align: right; *
B.?* ext-align: right; \Q\
C. right: text-align

D.  right text ali%
4

S2201-0911110
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44.  Consider the given image.

The HTML code to add a red colored, 7 pixels-thick border around the image is

v
<style>img{border:7px solid red;}</style> Q(l/
</style>img{border:7px solid red;}<style> (1/
<style><img>{border:7px solid red;}</styie% \%
</style><img>{border:7px solid red;};.@l&v @
. N/

45.  Consider the given image showing a hyperlink added to a webpage.
A\ ~

OlOo|m| >

Click Here for ZOOM

. A\
When someone clicks on C&(ere forgoom, the&@bom website with the following

address will be opened.

O
https://zoom.us/Q:b' 5\

The CORRECT HNVYL code for this pur
> B
k

A ="https://zoom. us/ '>C

Here for ZOOM</a>
P\\émref ‘https: //zq?@>CI|ck Here for ZOOM</a>
<a Click Here fo(ZbOM>href ‘https://zoom.us/"</a>
?" D | <a>Click er ZOOM>href="https://zoom.us/"</a>
®‘\J
&Qz

PLEASE TURN OVER THE PAGE
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Use the given image to answer Q.46, Q.47, Q.48 and Q.49.

@ CMs x [ o

Content Management System

A content management system (CMS) 1s a software application that enables users
to create, edit, collaborate on, publish and store digital data content.

= O X

o (e "

M1 Gmail 8 YouTube Y Maps Reading list

46.

47.

48.

The following changes need to be made in the heading:

Font style: Calibri 6 \*

Font color: Blue Q @
Font size: 35 pixels
P . 0
The replaced HTML code will be \ Q
A | <P style="font-family:Calibri; @ﬂﬁr Blue; font- S|ze3 >Content
Management System</p>
g | <P style="font:Calibri; fowor Bluepffont-size: 35&3Content Management
System</p>

c | <P style="font-fami i(@bn Qq:ge; fc@%%px;%Content Management

System</p>
<p style="font: ; color:Blue; fontWpr ">Content Management

System</p> AL
: 1~ -
The HTML code to display the text below the heading is
\VY

Wntent manageme@s@n (CMS) is a </b>software application</b> that
A es </u>users</u> to Cseate, edit, collaborate on, publish and store digital
£

strike>data</strj \ontent </p>

B | enables <u>u > to create, edit, collaborate on, publish and store digital

<p>A content manayerment system (CMS) is a <b>software application</b> that
<strike>da;aé§?> content.</p>

<p>A gbnteht management system (CMS) is a <u>software application</u> that
C | enables Qp>users</b> to create, edit, collaborate on, publish and store digital
<strike>data</strike> content.</p>

<p>A content management system (CMS) is a <u>software application</b> that
D | enables <b>users</u> to create, edit, collaborate on, publish and store digital
</strike>data<strike> content.</p>

The HTML code to display the heading shown in this image is

<h1>Content Management System</h1>
<h6>Content Management System</h6>
<b>Content Management System</b>
<title>Content Management System</title>

OCOw>
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49.  The HTML code to show the text on the image of tab is

A. <h4>CMS</h4>

B. <title>CMS</title>
C. <htmI>CMS</htmI>
D. <head>CMS</head>

50.  Consider the given image showing the text displayed on a web page

List of Science Subjects

n
o Physics
. Chemistry
. Biology

L 4

The HTML code that would display the list shown in the web page is
Q7

<li> <ul>Physics</ul> <uI>Chemistry@§ <ul>Biology</ul

<li> <ol>Physics</ol> <oI>Cth1i3hw</ol> <oI>BioIogN> </li>

<ul> <li>Physics</li> <I|>’Cil@astry</l|> <I|>Blolog@ﬂ|3)</ul>

o|lOo|m|>

<ol> <I|>Phy3|cs</I|kA<I|§€hem|stry</h> <I|>@Q3gy<ll|> </ol>

\O\ \

END OF PAPER
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